:ﬁﬁ£§ggﬁﬂﬁﬁﬁ%ﬁ§%ﬁg

044 B 1B HAT
A= %V$ﬁ Barl)

Y
i

gRF - ﬂﬁ '
27 V—rE

b b

47000

b

1= [sV] ] (o)) =300

55000

¥

dol| |ololo| |olo]
(7] (511 ESTESTER] (51 (o1 B
ol. |olelole|elel:

7

6,000 = 95,00 10 125,0 —

- 9,000 — 95,000 102, 125,0 —
8-+ B 7 - — — 117, = —
£ EHE - 6 7,000 — 65.000 87, 116,000 —
B 5,000 = — 117, — —
- 4,000 5 —
0,000 - 6 -

lolloleleloiolel:
o] |lolojololo|lof -

ﬁﬂﬁli

rf# %Lj§

ﬁﬁffﬁﬁi”g

;é_q

E%®&®ﬁﬁk#?%%% %5

ToS— b

v vvayv - BEE . yw~7f A%%E?E%ELTﬂETé —HORY

it =y i
el
4

AR -
Eﬁ =B RS - ﬁﬁ o

BHE I

R A R - g MR ;fgyvA-Wﬁﬁ;

ﬁ&% R

ERek RREHE BR

ESH  -®REF 737~ TR HE

T « B2HREET - ﬂ%ﬁ Mﬁ-

HE|

'¥ﬁ£nﬁﬁﬁ-
I% BE . BED - EET @iﬁ BRWH - KBS
Wﬁf W%&WT %wi W%W T47“§

ﬁ%iﬁﬁﬁﬁ€?4ﬁhezty&—

BE B BE BEE-

NR—% T iU

= H-

Eﬁ Mg - e

ML




